[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02 - L
0.01E FF- {L [ EHEE T
OF

4+

||||||.;||.||||||||||Lll||||||||||||||||||||||||||||

Ratio

oLt -1HH- T
id !
o6 ft-1HH

1072 10 1 10 0?
TP vertr (cr%)

MKEIT_T 1base
mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter

DOM
DOM T |
ici DQM_mkFit_TT baseline_6iter
Efficiend = pSM mkFit TT Retrainv WP2 6iter

~n 0.2

B 18 e ebeea e
P

n

> 0.1 ----rrrrrrrm e s
>

2

T TR ST

.......

Ratio

i T Il
20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
z
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

OF
1_

Ratio

0.8F

0.65 ; i ]
-20 =15 =10 -5

Sim. PV z (cm)



	Contents
	Page 1


